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QID: 101 -

In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

et uy # fu aw Reeul # @ uy B
(?) ¥ TAT W A AT TEA F AT

Options:
1) 35

2)37
3)39

4) 41
Correct Answer: 35
Candidate Answer: 35

QID : 102 -
How many triangles are there in the given figure?

& 78 st 3 e g 7

Options:
1)5

2)6
3)7

4)8
Correct Answer: 6
Candidate Answer: 6
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QID : 103 -

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-! are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrces can
be represented first by its row and next by ils column, for example, ‘A’ can
be represented by 24, 95, etc., and ‘M’ can be represented by 11, 66, etc.
Similarly, you have to identify the set for the word “PLEAN”.

T A had UFH AEAT-HAT ERT GMAT AT &, ofer FF Teheur & A
rdT T @ Toar wam ¥ Rweut & Bu s dwaradg IRt & oy ant
TRy griit @1w ¥, St o B ow g sy # ¥ e & Taew 3R
o A wEar 0 ¥ 4§ it Il A 5 F 91 3T IR Uh 36T
W TEd sEh Uf AR g # T T gRT g o @ R
3eToT & fAw ‘ATt 24, 95, 30T qRT gt ST T § aur ‘M @11,
66, 3T &R gefar s @aar & s ot § wuw un # Ru g
“PLEAN” & T Teg @ uwuEar &

Matrix-1 Matrix-ll

Il IRl
0|12 (3([4 5|6(7|8(9
0|P|C|W|G]| I 5|0|K|[D|F([X
11KIM|O|Q|S 6|GIM|{N|H|V
2/U(W|Y|B|A TIE|IO(Y|J|T
3|F|H|J|L|[N 8|C|F|W|L|P
41A|IP|T|V|X 9|A|S|U|N|P

Options:
1) 99, 00, 69, 86, 32

2) 02, 04, 88, 30, 42
3) 89, 88, 75, 31, 03

4) 00, 33, 75, 24, 98
Correct Answer: 00, 33, 75, 24, 98
Candidate Answer: 00, 33, 75, 24, 98

QID : 104 -

From the given answer figures, select the one in
which the question figure is hidden/fembedded.

& % I AGiaE # @ 3§ S Hg @ g
orm & uy ampfa BT %
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Options:
1)

Correct Answer:

Candidate Answer:

QID: 105 -

Which answer figure will complete the pattern in the
question figure?

P W T AP WY AFA & s H O
HYM?

D

T
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Options:
1)

D

2)

=

3)

"

4)

5

Correct Answer:

D

Candidate Answer:

QID : 106 -
If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

afE T UUT w AB (@ W T@T AW, o & T
IO AGRAr A @ AT O MG U e A
TEr ufataea grefre

A B
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Options:
1)

3

@ €3 D 65

Correct Answer:

it

Candidate Answer:

QID: 107 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

dr & uy apladl # @ MgErR wee @
AZH Ded JA Gield & d1g I8 fhE SR Ampia
s e geme

)
~
hY
Y
-
Y
Y
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Options:
1)

N
-

Lol o5 o) [

W
-

Y
-

Correct Answer:

o°

Candidate Answer:

o°

QID : 108 - If 'A' means '+', 'B' means 'x', 'C' means '+' and 'D' means -, then
19D3A11B12C132=7?
i A o1 31 '+, BT 31 ', 'C Bt 31 '+ qur D @t o~ |1, A

19D3A11B12C132="7?
Options:

1) 14

2)17

3)23

4) 35

Correct Answer: 17
Candidate Answer: 17

QID:109-If6 A3C2=7and17A 7C 11 = 13, then
21A1C12="2?
G 6A3C2=7TU17A7C11 =137,

21A1C12="?
Options:

1) 17

2) 14

3)15

4) 10

Correct Answer: 10
Candidate Answer: 10
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QID : 110 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Crow
2. Gown
3. Creep
4. Crane
5. Crest

iR Weal @l WUsgHRI H ofF aKd HH & AR g

1. Crow
2. Gown
3. Creep
4. Crane
5. Crest

Options:
1) 43512

2) 43521
3) 45321

4) 45312

Correct Answer: 43512

Candidate Answer: 43512

QID : 111 - In the following question, select the missing number from the given series.
2,6,18,54,?

fafafad gy & T 7 fdweal & ¥ g siew Fa il

2,6,18,54,?
Options:
1) 152

2) 162
3) 148

4) 164
Correct Answer: 162
Candidate Answer: 162

QID : 112 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
X, V,2,R, P

T 3gpd R T €, R O e e g €1 RU e et ¥ I 98 T iwen g, S e ol qu

X, V,2, R, P
Options:
1)S

2T
3)U

4)Q
Correct Answer: T
Candidate Answer: T

QID : 113 - In the following question, select the odd word from the given alternatives.

Frofafad gy & fou u e & 9 favd v 91 gl
Options:
1) Russian

2) Hindi
o=t

3) Punjabi
LRI

4) Economics
SrfRIRE

Correct Answer: Economics

SR

Candidate Answer: Economics
SrefRd

QID : 114 - In the following question, select the odd number pair from the given alternatives.

Frofates uy & fov o R & &
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Options:

1)8-13

2)5-10

3)7-12

4)9-16

Correct Answer: 9 - 16

Candidate Answer: 5 - 10

QID : 115 - In the following question, select the odd letters from the given alternatives.

FPofafaa wy 7 fou T fawmed # ¥ fawm sreri 31 g
Options:

1) QP

2) NM

3) WU

A1

Correct Answer: 1]
Candidate Answer: 1]

QID : 116 - Identify the diagram that best represents the relationship among the given classes.

Trouser, Shirt, Garment

T8 3 gAY S R Re 7w avif & o % deiy o1 9 Fean s g

T, FUI, o
Options:
1)

2)

O
O

3

g I —

4

o

Correct Answer:

Candidate Answer:

QID : 117 - In the following question, select the related word from the given alternatives.
Dawn : Dusk::Up:?
FufaRaa vy & fGu e fawedi § 9 dafdd 2sg &1 g

SUTHIA : GHTDTA : : HU : ?

e s T T AT b e T et o Vo Ve
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Options:
1) Top
I FWR
2) Long
T

3) Down
B

4) Going
ST
Correct Answer: Down

Candidate Answer: Down

QID : 118 - In the following question, select the related number from the given alternatives.
12:144::14:?
Fafafaa vy 7 fdu e ldeedi # § Hefa de &1 ghul

12:144::14:?
Options:

1) 196

2)172

3) 189

4) 156

Correct Answer: 196

Candidate Answer: 196

QID : 119 - In the following question, select the related letters from the given alternatives.
PHONE : ENOHP : : CALLER: ?

Fraffea oy o fou U fowedl & & Weflia sieri &I gHu)

PHONE : ENOHP : : CALLER: ?

Options:
1) RELLAC

2) LLREAC
3) RECALL

4) RELKAC

Correct Answer: RELLAC

Candidate Answer: RELLAC

QID : 120 - In the following question, select the word which cannot be formed using the letters of the given word.
SINGULAR

Fafiied fdewed! & 9 98 Tsg IFT o AU T4 Xec F 3R &1 TN 63 To! a1 o Tbal|

SINGULAR
Options:
1) SIGN

2) SIGNAL
3) RAINS

4) RAISE
Correct Answer: RAISE
Candidate Answer: RAISE

QID : 121 - Raju remembers his birthday is before 18thJanuary. His wife remembers his birthday is after 16th January. On which date of January is his birthday?

I P AE § T ST e 18 TS A Ued 81 SUD! Uell B UG § &5 ITHT S 16 TG & 4T &1 P SrAfe sast 1 dH 9 fafy &1 g2
Options:
1)17

2) 16
3)18

4)160r 17
16 31¥dT 17

Correct Answer: 17
Candidate Answer: 17
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QID : 122 - A is mother of B. B is son of C. Cis brother of D. D is niece of E. How is C related to E?

A, BITRIEI B, CHYIAGI C, D HTHE g D, E B Walloh 31 C, E ¥ fhg yoR Tafda g2
Options:

1) Nephew

e

2) Father
e

3) Husband
uia

4) Brother-in-law
Correct Answer: Nephew

Candidate Answer: Nephew

QID : 123 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
I. All pens are pencils.
II. All pencils are cups.

Conclusions:
I. Some cups are pens.
II. Some cups are pencils.

A fET T Ty A $© HYUF 3R TP 918 99 HYAI R SR $© FHY QU L 8, TIaifes S0 I I a2l & e 81 gavdht 5 1 3t e g ok fosr Faffa a3
& R = 3 e, 3T 1T HyHT & SR R gfFm §1

DY
1. 9 ew URw B
I & AR Bu B

frread:

1. 39 U HA &

11. $& $U URE &

Options:

1) Only conclusion (I) follows.
Pad ey (1) T R

2) Only conclusion (II) follows.
Faa [y (11) T &

3) Both conclusion %follow.
: 3
4) Neither conclusion (I) nor conclusion (II) follows.
T e (1) 7 € Feedf (1) T B
Correct Answer: Both conclusion follow.
gl g e Wi §
Car}didate Answer: Both conclusion follow.
gt &Y e W 21
QID : 124 - In a certain code language, "SPROUT" is written as "XUWTZY". How is "STEAM" written in that code language?

% AR HIs YN H, "SPROUT” &I "XUWTZY" foRal SIIdT €1 39 I HIST H "STEAM" & fd TR ferar wimamm
Options:
1) ZAFIP
2) RFIYX
3) XYIFR

4) AZUFY
Correct Answer: XYJFR
Candidate Answer: XYJFR

QID : 125 - In a certain code language, "FLIP" is written as "38" and "TRIP" is written as "58". How is "MAKE" written in that code language?
T fARIY SIS UIeT &, "FLIP" &I "38" YT "TRIP" &l "58" fCRaT ST ¥ | 3 HIS HINT & "MAKE" &I {5y UHR forar

Options:

1) 26

2)32

3)28

4) 25
Correct Answer: 25
Candidate Answer: 25

i he 55 ents & s T P 5 bt o M i i ’MM |
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QID : 126 - What is the value of (.4)2 + (.04)2 + (.004)2?

(.4)2 + (.04)2 + (.004)2 FH AH T 8?
Options:

1) 0.161616

2) 0.0161606

3) 0.001616

4) 0.000616

Correct Answer: 0.161616
Candidate Answer: 0.161616

QID : 127 - What is the value of (2.7 + 2.5)2 — (2.7 — 2.5)%?

(2.7 + 2.5)2 - (2.7 — 2.5)2 ST HF F18?
Options:

1) 27

2) 28

3)26

4)29

Correct Answer: 27

Candidate Answer: 27

QID : 128 - What is the least common multiple of (6/5) and (8/25)?

(6/5) T (8/25) BT THAH THIITE T 872
Options:
1)2

2) 24/3
3)6

4) 24/5
Correct Answer: 24/5
Candidate Answer: 24/5

QID : 129 - What is the simplified value of [(V9 + V7) + (V9 - V7)]

[(V9 + V7) + (V9 — V7)] &1 WRelidd TH FIT 82
Options:

1) 7-56

2)8-v63

3) 8 + V63

4)7 + /56

Correct Answer: 8 + V63

Candidate Answer: 8 + V63

QID : 130 - Which of the following statement(s) is/are true?

L. (4/9) > (4/7)
IL (5/7) > (4/9)

FeffEd # ¥ o 978 $0F 99 882

1. (4/9) > (4/7)
II. (5/7) > (4/9)
Options:

1) Only I

a1

2) Only II

Pae 11

3) Both I and II

1 QT 11 GHI

4) Neither I nor II
AT

Correct Answer: Only II

Had I

Candidate Answer: Only II
Had I

QID : 131 - Which of the following number is divisible by 8?

Fofafea & 3 oF & 9 8 I faursa g2
Options:

1) 98654

2) 97824

3) 99892

4) 112326

Correct Answer: 97824 T )
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Candidate Answer: 97824

QID : 132 - A, B and C undertook a work for Rs 80000. Together A and B complete (3/4)th part of the work. What is the share (in Rs.) of C?

A, B T C 3 U SIS I 80000 T H feran| A quT B s & &1 (3/4)-a1 {3 g1 axd 81 C o7 fdan (3 o) qn 82
Options:
1) 20000
2) 25000
3) 30000
4) 22000

Correct Answer: 20000
Candidate Answer: 20000

QID : 133 - X alone can do a work in 300 hours. Y alone can do the same work in 450 hours. X, Y and Z together can do the same work in 90 hours. In how many
hours can Z alone do the work?

X T B P 3par 300 € B W IRAT 51 Y ST F BT 3(PHan 450 G H Far g1 X, Y 91 Z frame I orf Y 90 0 & [ e 1 Z el S Hf Pl ey & 7

Options:

1) 150

2) 180

3) 220

4) 200

Correct Answer: 180
Candidate Answer: 180

QID : 134 - The angles of a triangle are in the ratio of 1 : 2 : 3. What is the measure of the smallest angle (in degrees)?

T3t BT & 10N BT ST 1 2 2 2 3 B W BIE H1vr 1 A (Rl &) @2
Options:
1) 60

2)30
3) 90

4) 45
Correct Answer: 30
Candidate Answer: 30

QID : 135 - A profit of 20% is made after giving a discount of 10% on an article. If the marked price of the article is Rs 3000, then what is its cost price (in Rs)?

TF T R 10% P! G 37 B UYTT 20% HT a1 Bi1 31 afe g 1 ifdd T 3000 T ©, o ST 4 T (3 H) |82
Options:

1) 3060

2) 2250

3) 2500

4) 2750

Correct Answer: 2250
Candidate Answer: 2250

QID : 136 - Akash purchased an article at a discount of 40% and sold it to Vinay at 10% profit. What is the ratio between the marked price and the price for which
Vinay purchased the article?

THTRT felt TG BT 40% B Fe R WGl ¢ 7T 3 a7 BT 10% & TN IR 39 SaT 81 Sifdhd Tog 71 ford 7 R fa7g 3 avg &1 wdiar 7, & i 31 ST &1 87
Options:

1)11:5

2)50:33

3)11:7

4)25: 16

Correct Answer: 50 : 33

Candidate Answer: 50 : 33

QID : 137 - If the sum of two numbers is equal to seven times of their difference, then what is the ratio of the numbers?
Tfe; < WResll HT AT I SR & I AT & SRR ¢, <O TSl T 3uTd 3T 82

Options:

1)4:3

2)3:1

3)4:1

4)1:6
Correct Answer: 4: 3
Candidate Answer: 4 : 3

e s T T AT b e T et o Vo Ve |
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QID : 138 - Three numbers are in the ratio 2 : 3 : 5. If the sum of their squares is 950, then what are the numbers?

dF eIt 22 3 1 5% U H §1 TG I @i o1 AT 950 T, o T 1 72
Options:
1) 10, 15, 20

2) 10, 15, 25
3) 20, 10, 25

4) 30, 15, 25
Correct Answer: 10, 15, 25
Candidate Answer: 10, 15, 25

QID : 139 - The average of 5 consecutive numbers is 18. If next 2 numbers are also included, then what will be the new average?

5 UM STl T 3Md 18 §1 Al 3rTelt 2 TRemaft o1 +ft e o forn SR, Y =7 SiRyd = gme
Options:
1) 18.5

2)19
3)19.5

4) 20
Correct Answer: 19
Candidate Answer: 19

QID : 140 - An article is sold at a loss of 14%. If the selling price is tripled, then what will be the profit percentage?
TF G BT 14% P 1 TR S=7 o1l o | i Faepar e fomgen a3 o, o s vy am givme

Options:

1) 158

2) 100

3)72

4) 125

Correct Answer: 158
Candidate Answer: 158

QID : 141 - If guava are bought at the rate of 3 for a rupee, then how many guavas must be sold for a rupee so as to gain 50%?

TS U 3T F 3 P &R Y 3ee WS WA 8, O U $ud  foba 3rRee 9 Sl 7 50% o1 olrH &1
Options:
1)1

2)2
3)4

4)6
Correct Answer: 2
Candidate Answer: 2

QID : 142 - A number is multiplied by (7/11) instead of (2/3). New value is what percent of desired value?

TS RS Y (2/3) BT Sl (7/11) B 7O R &7 S0l | =7 A, SHiiféia 7 &1 fasen ufasra 32
Options:

1) 95.45

2) 90.9

3) 86.29

4) 83.45

Correct Answer: 95.45

Candidate Answer: 95.45

QID : 143 - Two numbers are 15% and 25% less than a third number respectively. First number is what percent of the second number?

Tl SR U R G U 15% AU 25% HH § 1 Ugel G, g8t Tt &1 fa ufasra 82
Options:

1) 113.33

2) 119.99

3) 122.22

4) 106.66

Correct Answer: 113.33

Candidate Answer: 113.33

QID : 144 - The speed of a stream is 3 km/hr. A boat goes 60 km and comes back to the starting point in 15 hours. What is the speed (in km/hr) of the boat in still
water?

TP YRI P TIfd 3 7. /deT 81 o =

= /%'-“ﬁ'—'-wﬁ-mﬁ-lrrﬁ (Fo. /e &) F 82
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Options:

1)8

2)9

3) 10

4)12

Correct Answer: 9
Candidate Answer: 8

QID : 145 - Two men are standing on opposite ends of a 1600 metre long bridge. If they walk towards each other with speeds of 12 m/s and 4 m/s respectively,
then in how much time (in seconds) will they meet each other?

awﬁjés%%?mRM%$ﬁuﬂaWw’@%‘%I g I oha=E: 12 HL/Q. TUT 4 HL/A. BRI Y Ub G B SR T URY &, @ 9 S8 T feq & fban g
(TepUSt ) T

Options:

1) 120

2) 100

3) 180

4) 150

Correct Answer: 100
Candidate Answer: 100

QID : 146 - In how much time (in years) will Rs 8500 amount to Rs 10200 at simple interest at the rate of 10% per annum?

fha T (auf &) T 8500 T 31 ART 10% FT A1fD G= I AR 6 W 10200 T G SR
Options:

1)2

2)3

3)5

4)15

Correct Answer: 2

Candidate Answer: 2

QID : 147 -
The table given below shows the number of students
{(in 000’) passing from 2 schools A and B each year
from year 2012 to 2016.

A & 9 arforeer F 2 Teamerdt A 99T B ® 3¢ 2012
H2016 O Fder I Jedior gT o hr wEar (000

) I g T
Year | =k School / e

A B
2012 40 36
2013 44 48
2014 50 60
2015 48 54
2016 60 50

What is the percentage change in the number of students passed in school A from year 2012 to year 2015?

aY 2012 I T 2015 TF e A T S0l gU SEH 3 TB # Ui uidd :1g?
Options:

1)4

2) 25

3)20

45

Correct Answer: 20

Candidate Answer: 20

i he 55 ents & s T P 5 bt o M i i ’MM |
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QID : 148 -
The table given below shows the number of students
(in 000") passing from 2 schools A and B each year
from year 2012 to 2016.

e &Y 91 arferer 2 Trarerdt A 99T B & 39 2012
H2016 9% Fe I Jeiior gT o i wEdr (000
) S geiar 74T g

Year | ok School / fraraa
A B
2012 40 36
2013 44 48
2014 50 60
2015 48 54
2016 60 50

In how many years was the number of students passed in school B more than that of school A?

fhan ot #, faemem B 7 S<iivl 5T BH 31 wE 9 A 9 it o
Options:

1)2

2)3

3)5

4)1

Correct Answer: 3

Candidate Answer: 3

QID : 149 -

The table given below shows the number of students
(in 000") passing from 2 schools A and B each year
from year 2012 to 20186.

#=r & 9 arforeRr 2 Tammerdl A IUT B W a§ 2012
H2016 9% FAe I Jeiior gT oTEr hr wEar (000
) I g T3 g

veam B School / e
A B
2012 40 36
2013 44 48
2014 50 60
2015 48 54
2016 60 50

What is the average number (in 000") of students passed in school A over the given 5 years?

feu e 5 auf & fagmer A § il gU eE &1 oifa T@ (000" 7) T 82
Options:

1) 49.6

2) 46

3) 48.4

4)46.8

Correct Answer: 48.4

Candidate Answer: 48.4

i he 55 ents & s T P 5 bt o M i i ';.r‘m
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QID : 150 -
The table given below shows the number of students
(in 000") passing from 2 schools A and B each year
from year 2012 to 2016.

e &Y 91 arferer 2 Trarerdt A 99T B & 39 2012
H2016 9% Fe I Jeiior gT o i wEdr (000

) S geiar 74T g
Year | ok School / faare=r

A B
2012 40 36
2013 44 48
2014 50 60
2015 48 54
2016 60 50

What is the ratio of the number of students passed in school A in year 2015 to that of number of students passed in school B in year 2012?

T 2015 H fyeam A # il g SEN 3 Sem &1 v 2012 ® ey B # Il g SE 3 Uem O Fn oo 82
Options:

1H1:1

2)24:25

3)9:8

4)4:3

Correct Answer: 4: 3

Candidate Answer: 4 : 3

QID : 151 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

That is, poets began to reflect (1)/ the complexities of modern culture (2)/ it's fierce disjunctions. (3)/ No error (4)
Options:
1)1

2)2
3)3

4)4
Correct Answer: 3
Candidate Answer: 3

QID : 152 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

But it will a slight exaggeration to (1)/ equate the extinction of a language (2)/ to the death of the human being. (3)/ No error (4)
Options:
1)1

2)2
3)3

44
Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]

QID : 153 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

He is virtuous and
Options:

1) honest

2) the honest

3) honesty

4) a honest

Correct Answer: honest
Candidate Answer: honest

i he 55 ents & s T P 5 bt o M i i 'I.T‘M |
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QID : 154 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

Itis duty to help the poor.
Options:
1) everybody's

2) everyone
3) each one

4) everybody
Correct Answer: everybody's
Candidate Answer: everybody's

QID : 155 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Interference
Options:

1) Barring

2) Assistance

3) Harmony

4) Concord
Correct Answer: Barring
Candidate Answer: Barring

QID : 156 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Evasive
Options:
1) Devious

2) Straight
3) Ready

4) Direct
Correct Answer: Devious
Candidate Answer: [ NOT ANSWERED ]

QID : 157 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Comic
Options:
1) Funny

2) Sober
3) Solemn

4) Tragic
Correct Answer: Funny
Candidate Answer: Funny

QID : 158 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Wavering

Options:

1) Uncertain

2) Fickle

3) Unchanging

4) Unsure

Correct Answer: Unchanging

Candidate Answer: Uncertain

QID : 159 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.
Vice

Options:

1) Decay

2) Evil

3)ill

4) Virtue

Correct Answer: Virtue —_— - - - .
ae e ¢ e v s I B TR ST ot A TS e B Y Y M ) |
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QID : 160 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Iniquity
Options:
1) Sin

2) Evil

3) Infancy
4) Good

Correct Answer: Good
Candidate Answer: [ NOT ANSWERED ]

QID : 161 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Best of both worlds

Options:
1) All the advantages

2) To waste time here and there
3) To wish good luck

4) To keep quite
Correct Answer: All the advantages
Candidate Answer: To wish good luck

QID : 162 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Costs an arm and a leg
Options:

1) Showing disappointment

2) Done in secret

3) Something is very expensive
4) Boring work or task

Correct Answer: Something is very expensive
Candidate Answer: Something is very expensive

QID : 163 - Improve the bracketed part of the sentence.

The reason that India has remained a parliamentary democracy was not because such a democracy was imposed (to) it.
Options:
1) at

2) on

3)in

4) No improvement
Correct Answer: on
Candidate Answer: in

QID : 164 - Improve the bracketed part of the sentence.

Often, the novels Agatha Christie wrote dismissed as inferior to the (most) famous early works.
Options:
1) more

2) many
3) much

4) No improvement
Correct Answer: more
Candidate Answer: many

QID : 165 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

One who passes interest in religion
Options:
1) Fanatic

2) Fluctuating
3) Fetish

4) Fission
Correct Answer: Fanatic
Candidate Answer: Fanatic
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QID : 166 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

An art of garden cultivation
Options:

1) Hibernation

2) Haemorrhage

3) Horticulture

4) Hiatus
Correct Answer: Horticulture
Candidate Answer: Horticulture

QID : 167 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:
1) Circus

2) Sircus
3) Sercus

4) Ciricus
Correct Answer: Circus
Candidate Answer: Circus

QID : 168 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:
1) Diamond

2) Daimond
3) Diamund

4) Diemond
Correct Answer: Diamond
Candidate Answer: Diamond

QID : 169 - Rearrange the parts of the sentence in correct order.

One day

P: he will feel

Q: his responsibility
R: sooner or later
Options:

1) PRQ

2) RQP
3) QPR

4) RPQ
Correct Answer: RPQ
Candidate Answer: RPQ

QID : 170 - Rearrange the parts of the sentence in correct order.

It was

P: for laughter
Q: occasion
R: scarcely an

Options:
1) PRQ
2) RQP
3) QPR

4) RPQ
Correct Answer: RQP
Candidate Answer: RQP

QID : 171 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The common courtesies of life are the endless little gestures we make almost unconsciously as we move through our day. As we go to work and through our
day, we with bus drivers, waitresses, people on the street, and countless others. How we interact with these individuals can their day and ours. The
courtesies of life, from treating a frazzled server with respect to smiling at the person seated across from us on the bus, should be forgotten.

work and through our day
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Options:
1) muddle
2) distribute
3) fragment

4) create
Correct Answer: muddle
Candidate Answer: create

QID : 172 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The common courtesies of life are the endless little gestures we make almost unconsciously as we move through our day. As we go to work and through our
day, we with bus drivers, waitresses, people on the street, and countless others. How we interact with these individuals can their day and ours. The
courtesies of life, from treating a frazzled server with respect to smiling at the person seated across from us on the bus, should be forgotten.

we with bus drivers
Options:

1) attract

2) interact

3) retreat

4) reflect

Correct Answer: interact
Candidate Answer: interact

QID : 173 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The common courtesies of life are the endless little gestures we make almost unconsciously as we move through our day. As we go to work and through our
day, we with bus drivers, waitresses, people on the street, and countless others. How we interact with these individuals can their day and ours. The
courtesies of life, from treating a frazzled server with respect to smiling at the person seated across from us on the bus, should be forgotten.

individuals can their day
Options:
1) effect

2) suspect
3) affect

4) concept
Correct Answer: affect
Candidate Answer: effect

QID : 174 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The common courtesies of life are the endless little gestures we make almost unconsciously as we move through our day. As we go to work and through our

day, we with bus drivers, waitresses, people on the street, and countless others. How we interact with these individuals can their day and ours. The
courtesies of life, from treating a frazzled server with respect to smiling at the person seated across from us on the bus, should be forgotten.

and ours.The courtesies of life

Options:

1) different

2) contracting
3) debatable

4) common
Correct Answer: common
Candidate Answer: common

QID : 175 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The common courtesies of life are the endless little gestures we make almost unconsciously as we move through our day. As we go to work and through our
day, we with bus drivers, waitresses, people on the street, and countless others. How we interact with these individuals can their day and ours. The
courtesies of life, from treating a frazzled server with respect to smiling at the person seated across from us on the bus, should be forgotten.
should be forgotten

Options:
1) clever
2) waiver
3) shower
4) never

Correct Answer: never e s T T AT b e T et o Vo Ve |
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Candidate Answer: never

QID : 176 - Which of the following metals have NOT been discovered from the Harappan sites so far?

FewrmIa el 7 ot e frg ig @t w18t g5 82
Options:

1) Copper

dier

2) Gold

ol

3) Silver
4) Iron
Correct Answer: Iron

Candidate Answer: Iron

QID : 177 - Which of the following is NOT included in the "Triratna" of the Buddhism?

gl P ERA A AR T 8 ?
Options:
1) Buddha

9=
2) Religion
et

3) Sangha

RE)

4) Middle way

A T

Correct Answer: Middle way
Aed A

Candidate Answer: Middle way
T T

QID : 178 - In which type of rocks coal is found?

S e TgH & I S 8 ?
Options:
1) Metamorphic rock

2) Sedimentary rock
UXAGR T

3) Abiotic rock
3o g

4) Igneous rock

qgH
Correct Answer: Sedimentary rock
IRAGR 9™
Candidate Answer: Metamorphic rock

IRafid M
QID : 179 - Indian Desert is called
R HHRIT B Fed gl

Options:
1) Thar
YR

2) Sahara

HeRI
3) Gobi
Tt

4) Atacama
S{CThMI

Correct Answer: Thar
YR

Candidate Answer: Thar
UR

QID : 180 - The Constituent Assembly held its final session on which day?

T T 3 Tfaem & sifdw = I g 37 wika a2
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Options:

1) August 15, 1947

15 3'Rd, 1947

2) December 15, 1948
15 f3eR, 1948

3) November 26, 1949
26 4R, 1949

4) January 26, 1950
26 SaY, 1950
Correct Answer: November 26, 1949
26 FqeR, 1949

Candidate Answer: January 26, 1950
26 WA, 1950

QID : 181 - The provision of federalism of the Indian Constitution has been borrowed from which nation?

HRg e # earg fu 3 & ferm g 2
Options:
1) UAE

2) USA
3) Australia

4) Canada

EEIs

Correct Answer: Canada
ST

Candidate Answer: USA
Ju

QID : 182 - India’s legitimate currency is

URd @t fRfeT gz ®
Options:
1) Euro

2) Rupee

R3ep)

3) Dollar

SR

4) Pound sterling
Ui whefT

Correct Answer: Rupee
>udr

Candidate Answer: Rupee
Rpl|

QID : 183 - Which institution regulates the insurance sector in India?

YRd § ST &5 &1 FgHT S-SR Bt § ?
Options:
1) DFHI

SUHTISTS
2) SEBI
R |

3) IRDA

3MESY
4) LIiC
TS

Correct Answer: IRDA

Candidate Answer: IRDA

QID : 184 - On which principle does the Nuclear Power Plant work?

TRATY] e W o Rigid R am Fa1 g ?
Options:
1) Fission

2) Fusion

Hag

3) Thermal combustion
g g8

4) No option is correct.

1% fdped T TS &

Correct Answer: Fission
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Capdidate Answer: Fission

QID : 185 - All acids produce when dissolved in water.

Gt ofvet o7et # Y] UG R [
Options:

1) OH-ion

OH- 3{1Igq

2) H+ion

H+ 3

3) EIgctron

4) Néutron

agH

Correct Answer: H+ ion
H+ 3

Candidate Answer: OH-ion
OH- 3Igq

QID : 186 - When someone lands on Moon, his body's

T Bls AT T5HT TR Il ¢ dl 39P IXR T IuRRUA [
Options:

1) mass changes

SorHH # URad g 8

2) weight decreases and the mass remains unchanged

UR 9T ST § aY ST

3) weight changes

HRH

4) mass and weight decrease both

GoTH qUT HR S § it gkt @

Correct Answer: weight decreases and the mass remains unchanged
HR U ST § T ST

Candidate Answer: weight decreases and the mass remains unchanged
HR UT T § A1 SHHM

QID : 187 - When a cyclist turns on a turn, he

DR ARPa R PR A A yuary, dag |
Options:

1) bends outward

TIER B SR FbaT g

2) bends inwards

AR BT AR Pl 3

3) bends forward

3T BT 3R b 3

4) does not bend at all

g T8t gl &

Correct Answer: bends inwards
R BT SR FFAT &

Candidate Answer: bends inwards

IR B SR gl &
QID : 188 - Which of the following is a stem?
Fufafed & ¥ $F o 1 e?

Options:

1) Potato

S,

2) Carrot

TSR

3) Sweet potato
REET

4) Radish

Correct Answer: Potato

e

Ca nd.idate Answer: Sweet potato
RIEXE T

QID : 189 - provides various attractive colors to flowers and seeds.

Tt 3R S B AT UPR & 31HNd T USH Bl § [
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Options:
1) Leucoplast

2) Chromoplast
HIHRE

3) Chloroplast
FINERE

4) Tonoplast
EHIwRE
Correct Answer: Chromoplast

Candidate Answer: [ NOT ANSWERED ]

QID : 190 - What is studied in Ornithology?

Sffaarch (Ornithology) ¥ e sisaq 's;f?ﬂ%' ?
Options:

1) Bird

gt

2) Mammals

AR

3) Bat

TGS

4) fish

ol

Correct Answer: Bird
gt

Candidate Answer: Bird
it

QID : 191 - Soil erosion can be prevented

T[T SURE T ST Gehal B
Options:
1) by Overgrazing
W GRI
2) by Eradication of vegetation
I R
3) by afforestation
anrl
4) by increasing the number of birds
e @t e H 9iE gRT
Correct Answer: by afforestation
RG] GRT
Candidate Answer: by afforestation
anl

QID : 192 - In computer science, what is "Memory" word related to?

Pugex fagm & IR S e el @ 2
Options:

1) With Logic

a9

2) With Control
S
3) With Input
q
4) With Storage
TR q
Correct Answer: With Storage

Candidate Answer: With Storage
TR

QID : 193 - Which game has 7 players in each side?

9 T & 9l & v vy § 7 R 90 § 2
Options:

1) Basketball and kabaddi

ElSTEINKG

2) Baseball and water polo

ESSINGGIGAREI

3) Water polo and kabaddi

qIex Ulell 9 Hag!

4) Polo and Kho-Kho

didl 9 @@t

Correct Answer: Water polo and kabaddi

qex Ul 9 Hag!
Candidgte Answer: Basketball and kabaddi
YRGSl d Has! 0 Rz
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QID : 194 - "Shrimadabhagwat Gita" is a part of to which of the following book?

"SAgTTad T fore TR T R §?
Options:

1) Panchatantra

LEGE]

2) Hitopadesh

fedmam

3) Mahabharata

HEHRA

4) Ramayana

NHE

Correct Answer: Mahabharata
HeHRA

Candidate Answer: Mahabharata
HBHRA

QID : 195 - From which of the following route did Prime Minister started "Udaan Yojna"?

TYFER A IS Aok &1 UR™Y 3§  fove At 4 fopam
Options:
1) Shimla-Delhi route
Rren-faeeh arf
2) Mumbai-Delhi route
arf

3) Goa-Punjab route
Tiar-usTE grf
4) Shimla-Tamilnadu route

Correct Answer: Shimla-Delhi route
R ant
Candidate Answer: Mumbai-Delhi route

rers-faeeh Anf
QID : 196 - Who invented the process of the photography on metal?

T TR BICITDT BT Uikl Bt TreT fare ot e

Options:
1) ) Neepse
A

2) Roentgen

3) John Dalton
S gleed

4) Albert Einstein
TE TS

Correct Answer: ] Neepse

o i
Candidate Answer: [ NOT ANSWERED ]

QID : 197 - Which of the following is NOT a folk dance?

T A P URA i T T 82
Options:
1) Ghoomar

TR

2) Kathakali
HYHA

3) Garba
TRl

4) Dandiya
ifsan

Correct Answer: Kathakali
HYHA

Candidate Answer: [ NOT ANSWERED ]

QID : 198 - The first Indian to be awarded th Magsaysay Award is

TR RERATHAT IR aR A uRdlg _ Fl
Options:

1) Acharya Vinoba Bhave

SICUREEICIRIGH

2) Jai Prakash Narayan

S YhTRI AR™0T

3) Mother Teresa

AR &

4) Kiran Bedi

T 3t
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Correct Answer: Acharya Vinoba Bhave

e faiar
Candidate Answer: [ NOT ANSWERED ]

QID : 199 - Which of the following country's airways launched the world's longest flying service in 2017?

a9 2017 & Fufarad & 3 {50 33 & TRV gR1 9y 31 9a9 awit sasd o IS a1 T&E 3 T2
Options:

1) Qatar

B

2) Germany

STHAT

3) United Arab Emirates
Y SR SHRIA

4) Japan

S

Correct Answer: Qatar
DR

Candidate Answer: [ NOT ANSWERED ]

QID : 200 - Which is the longest river in Sri Lanka?

ST B Tyl T BiF A 72
Options:

1) Pamban river

Ya et

2) Mahaweli River

3) Maha Oya River
BN e
4) Ka!u Ganga River

I T G

Correct Answer: Mahaweli River

Candidate Answer: [ NOT ANSWERED ]



